MAT 1160 — JigSawDoku Name:

Fill in the rows, columns, and 2 x 3 boxes with the digits 1 through 6 so no row, column, or box
contains duplicates. The solutions are on the back.

Puzzle No. 1 Puzzle No. 2 Puzzle No. 3
2 5 3 5 | 4 4 6
2 5 1 2 | 3
216 2 1 2 5t
5 | 6 D 6 6 3
1 116 2 15
3 ) 4 11 2 6 1
Puzzle No. 4 Puzzle No. 5 Puzzle No. 6
6 3 1 5 1 ) 2 4
6 3 2
5 4 |1 2 6 4 1 6 1
2 11 3 6 4 1 6 | 4
4 3 2
2 ) 6 4 2 4 1 D
Puzzle No. 7 Puzzle No. 8 Puzzle No. 9
6 3 5 6 2 116
6 1 3 3 | 4 D
2 4 6 1 2
3 2 6 6 1
6 2 4 5t 1 2
1 2 5t 4 4 11 6
Puzzle No. 10 Puzzle No. 11 Puzzle No. 12
2 5 | 1 516 1 21 31]6 4
5 3 3
4 16 3 5 4 5
5 | 4 2 6 1 3
4 3 4
6 3 1 5 4 1 4 2 6 1




Solution No. 1 ‘ Solution No. 2 Solution No. 3 Solution No. 4

| | | |
1f6]2]5[4af3] [L]5]4]6[3]2]) [4]2][6]5]L]8] [6[5]4]3]2[1]
5]4]8]6]2) 1) [3]6]2]5]1]4] [5]3[1]2[6[4] [3]L1]2]5[6]4]
a[3]1]2]6]5] [6]2]3][4]s[1] [3[4]2]1]5]6] [5]6]3]4]1]2
256 1[3]4] [slalt]2]6[3] [1]6]5]3]4a]2] [4a]2]1]6]|5]3
6[1]4]3][5]2] [2]1]6][3]4]5] [6][1]3]a]2]5] [1]4]6]2]3]5
3l2ls5]af1le] [al3]s]1]2]6] [2]5]4]6]|3]1] [2]3]5]1]4]6

Solution No. 5 Solution No. 6 Solution No. 7 Solution No. 8

| |
| |
| | | |

3l2[5]4f6]L) [s]1[2]4]3]6] [s[1[3]6]2[4] [3]4]5]1][2]6
6 1[4]5]8]2] [4]6[s]5]1]2] [4]2]6]1]5]8] [6]L[2]3[4]5
2[al3fe]1]5] [3]af6]2]5]1] [2]3]a5[1]6]| [1]6][4]2]5]3
1563 (2]4a] [1]2]5]6]a]3| [1]6]5]3]4]2] [s]2]3]4]6]1
sl3l2f1]ale]| [2]s[1]3]6]a] [6][s5]2]4]3][1] [4]5][1]6][3]2
ale 1] 2]53] [6[3]4a1|2]5] [3]4]1]2]6]5] [2]3]6]5]1]4

Solution No. 10 ‘ Solution No. 11

‘ Solution No. 12 ‘
6[2[4]5]1

2\3\5\\1\6\4 3 sl6[8]1f2][4]) [2]8[6]1]5]4]
frfofslsl2] [1]s]4]2]6]3] [1][4]2]8]5[6] [5]L[4]8[2]6]
1[5[afe6l2]3] [5[4]6][3]1][2] [4]3]6]2[1]5] [3[4]2]6][1]5
3lel2fsfal1| [2]1]3]s]4al6] [2]5]1]4]6|3]| [1]6]5]4]3]2
6|2[3[4f1]5] [4]2][1]6]3]5] [6[1]a]5]3][2] [6]2][1]5][4]3
5lali]2]3]6| [6]3]51]2]4] [3]2]5]6|4][1| [4]5]3]2]6]1




